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INSTRUCTIONS

1. Answer all questions.  You should mark all your answers on the MC Answer Sheet.
2. You should mark only ONE answer for each question.  If you mark more than one answer, you will receive NO MARKS for that question.
3. Total Score of this paper II is 80 marks.

4. Calculator is allowed to be used.
DO NOT TURN OVER THIS QUESTION BOOK

UNTIL YOU ARE TOLD TO DO SO


1.
Simplify 
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2.
  Solve the exponential equation 42x ( 4096.




A.
2


B.
3



C.
6



D.
16
3.

The length of each side of a cube is increased by 10%. Find the percentage increase in the total surface area of the cube.

A.
10%

B.
20%

C.
21%

D.
33.1%

4.

Mr. Chan deposits $20 000 at a bank at an interest rate of 6% p.a. Find the simple interest that he will get after 1 year and 3 months.




A.
$1 200


B.
$1 500


C.
$1 800


D.
$2 000

5.

Factorize (5x ( 2)(6x ( 1)x ( 10x + 4.



A.
(5x ( 2)(2x ( 1)(3x + 2)


B.
(5x ( 2)(2x ( 1)(3x ( 2)


C.
(5x ( 2)(2x + 1)(3x + 2)


D.
(5x ( 2)(2x + 1)(3x ( 2)

6.
Factorize 
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B.
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C.
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D.
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7.
From the 2-D views provided below, find the corresponding solid.
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8.
In the figure, ABCDEFGH is a cube. Which of the following is not a right angle ?
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A.
(AEH


B.
(FEC


C.
(BDE


D.
(ECG

9.
What is the order of rotational symmetry of the solid shown below about the line l ?



A.
3
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B.
4


C.
5


D.
6

10.
In the figure, AB//DE, which of the following must be true?
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B.
y ( x – z 
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C.
x = y – z 
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D.
x ( y + z ( 180(

11.
In the figure, ACBD is a rhombus. Which of the following are true?
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I.
AC ( BD





II. 
AC ( BD
 



III.
(ABD = (ADB


A.
I and II

B.
II and III
C.
I and III

D.
I, II and III
12.
The scores obtained in throwing a die and the corresponding frequencies are recorded in the following table.

	Score
	1
	2
	3
	4
	5
	6

	Frequency
	6
	9
	10
	7
	6
	x


If the mean score is 3.68, find the value of x;




A.
8


B.
9


C.
10


D.
12
13.
If the median of the numbers 7, 18, x, 3, 6 and x is 10, find the mode.



A.
10


B.
11



C.
12



D.
13

14.
A bag contains 40 balls whose colours are red and white. A ball is chosen at random. The probability that the ball is red is 0.2. Find the number of white balls in the bag.




A.
2


B.
8



C.
16



D.
32


15.
A card is drawn at random from a pack of 52 playing cards (without Jokers). What is the probability of getting a card which is neither a 4 nor a diamond?




A.
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16.
A die was tossed many times and the results are recorded as follows:
	
Number
	
1
	
2
	
3
	
4
	
5
	
6

	
Frequency
	
80
	
91
	
79
	
67
	
101
	
82




What is the experimental probability of getting a number less than 2?



A.
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17.
There are 15 cups of vanilla ice-cream (V) and x cups of chocolate ice-cream (C) in a refrigerator. If a cup of ice-cream is drawn at random, the probability of getting vanilla ice-cream is 
[image: image19.wmf]8

3

, find the value of x.



A.
25


B.
30



C.
35



D.
40
18.

Both A and B have a set of cards numbering form 1 to 5. Each of them should choose one card at random from their own sets. One wins the game if he gets a larger number. The game is drawn when the numbers are the same. Find the probability that A wins the game.



A.
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19.
In the figure, VABCD is a right pyramid of height 20 cm and the base is a rectangle of dimensions 18 cm( 24 cm. Find the length of VE. (Correct your answer to 1 decimal place.)



A.
21.9 cm



B.
23.3 cm



C.
25.0 cm



D.
28.4 cm
20.


In the figure, the plane passing through B and C is parallel to the base of the cone. AMN is the height of the cone. If AM:MN = 2:1, what is the ratio of the volume of the cone ABC to the volume of the frustum BCED?
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A.
8:27

B.
8:19

C.
4:9

D.
4:1


21.
Simplify 
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A.
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22.

If the angle of elevation of point B from point A is 38(, then the angle of depression of point A from point B is


A.
38(.


B.
52(.


C.
128(.


D.
142(.

23.
As a skier skis 50 m down a slope, he covers a horizontal distance of 48 m. The gradient of the slope is

A.


.

B.


.

C.



D.

[image: image30.wmf]24
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24.
It is given that ( and ( are acute angles. If sin ( = cos (, then 

A. 
( = (


B.
( + ( = 90(


C.
( + ( = 180(


D.
( – ( = 90(
25. In the figure, EFGH is a rectangle with GH = y, FG = x and (FGJ =(. Find the vertical distance between point E and the straight line I J.
[image: image52.png]top view front view right-side view




A. x cos( + y sin(
B. x sin( + y cos(
C.  (x + y) cos(
D. (x – y) sin(
26.
In the figure, QP(PR, (PRS = 3( and (SRQ = (. Given PR = 8 cm and PS = 15 cm, find QS.
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A.
3.0 cm



B.
18.0 cm



C.
46.3 cm



D.
61.3 cm

27.

The figure shows (ABC. If ED ( EC and DE // BC, which of the following must be correct?
[image: image54.png]
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III.
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A.
I only



B.
II only



C.
I and II only



D.
I, II and III


28.
In the figure, ACEF is a straight line and AB // CD. Which of the following must be correct?
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29.
In the figure, ABCD is a kite. Find (ABC.
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A.
55(


B.
90(


C.
107.5(


D.
145(
30.

In the figure, the lines AB, DC and EFG are parallel. E is the mid-point of AD, 

AB = 9 cm, CD = 3 cm, ABC = 28( and ACB = 63(. If EG = x cm and 
ACD = y(, find the values of x and y.
A.
x = 12
,  y = 91
B.
x = 7.5
,  y = 89
C.
x = 6
,  y = 91
D.
x = 6
,  y = 89

31.
In the figure, ABF, ACD and FED are straight lines. BCDE is a parallelogram. Find the perimeter of parallelogram BCDE.







A.
34



B.
30



C.
24



D.
17


32.
The figure shows a right-angled triangle ABC. Find the area of trapezium BCDE.







A.
4a2


B.
8a2


C.
12a2


D.
16a2
33.
Join the mid-point of the sides of a rectangle. The figure obtained must be a


A.
 square



B.
 rectangle



C.
 kite


D.
 rhombus
34.
If AC = CB, find CF.



A.
6



B.
6.5



C.
7



D.
7.5

35.
If AB = BC, AF = 5 cm and EB = 3 cm, find DC.


A.
5 cm



B.
7 cm



C.
11 cm



D.
13 cm

36.
In the figure, P is a point on the x-axis, find AP : PB.

A.
1 : 1.


B.
2 : 5.


C.
2 : –5.


D.
5 : –2.


37.
It is given that the coordinates of A and B are (1, (4) and ((5, (8) respectively. C is a point on AB produced such that AB : BC  1 : 1. Find the coordinates of C.


A.
((11, (12)


B.
((9, (20)


C.
((2, (6)


D.
(11, 12)

38.

If the slope of the straight line 

 is SYMBOL 45 \f "Symbol"3 , find the value of k.
A.
SYMBOL 45 \f "Symbol"3

B.
[image: image31.wmf]9

5
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39.

In the figure, the equation of the straight line L is 5x SYMBOL 45 \f "Symbol" 12y + 30 = 0. Find the shaded area.

A.
3.6

B.
7.2

C.
7.5
D.
15

40.

In the figure, OABC is a parallelogram. O is the origin. A and C are the points (3 , 6) and (7 , 4) respectively. Find the equation of OB.

A.
x SYMBOL 45 \f "Symbol" 2y = 0
B.
x SYMBOL 45 \f "Symbol" y = 0
C.
x + 2y = 0
D.
2x SYMBOL 45 \f "Symbol" y = 0

End of Paper
Answers
	1
	A
	11
	B
	21
	A
	31
	B

	2
	B
	12
	D
	22
	A
	32
	C

	3
	C
	13
	D
	23
	D
	33
	D

	4
	B
	14
	D
	24
	B
	34
	C

	5
	D
	15
	B
	25
	B
	35
	C

	6
	D
	16
	A
	26
	C
	36
	B

	7
	A
	17
	A
	27
	D
	37
	A

	8
	D
	18
	C
	28
	C
	38
	A

	9
	C
	19
	A
	29
	C
	39
	C

	10
	A
	20
	B
	30
	D
	40
	B
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